RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approval of the Phoenix Indian School Trust Fund Second Distribution and Child Welfare Division FY 2005 Budget)

RESOLUTION NO. 04-642

1	WHEREAS,	the Tohono O'odham Nation was notified in November 1999 by the Executive Director			
2		of the Inter-Tribal Council of Arizona, Mr. John R. Lewis, that the Nation is scheduled			
3		to receive its first distribution of the Arizona Inter-Tribal Trust Fund in the amount			
4		of \$400,000.00 in December 1999 under Public Law 100-969, Arizona Inter-Tribal and			
5		Navajo Trust Fund; and			
6	WHEREAS,	by Resolution No. 2000-253, the Legislative Council approved an allocation of			
7		\$174,565.60 of the first distribution to the Department of Human Services Child			
8		Welfare Division; and			
9	WHEREAS,	by Resolution No. 03-221, the Legislative Council approved an allocation of the			
10		remaining\$225,343.40ofthefirstdistributiontotheDepartmentofHumanServices			
11		Child Welfare Division; and			
12	WHEREAS,	the Nation is eligible to receive the second distribution of the Arizona Inter-Tribal			
13		Trust Fund in the amount of \$400,000.00 for Fiscal Years 2005, 2006, and 2007; and			
14	WHEREAS,	by agreement with the Nation's Executive Office and the Department of Human			
15		$Services, \$133, 333. 33 \ of the second \ distribution \ of the Arizona \ Inter-Tribal \ Trust \ Fund$			
16		will be committed to continue funding the budget of the Department of Human			
17		Services Child Welfare Division, for the period of October 1, 2004 - September 30,			
18		2005.			
19	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council does hereby			
20		approve and authorize the Executive Branch to expend funds for the budget attached,			
21		effective October 1, 2004 through September 30, 2005, in the amount of \$133,333.33			
22		committed to continue funding the budget of the Department of Human Services			
23		Child Welfare Division, inclusive of budget modifications during the year.			
24	BE IT FINALLY RESOLVED that the Tohono O'odham Nation's officials to wit: the Chairwoman,				
25		Vice Chairman and any designated official are hereby authorized to negotiate,			
26		execute and expend the grant.			
27		• • •			
	•	·			

	2005 Budget)	ol Trust Fund Second Distribution and Child Welfare Division FY
	Page 2 of 3	
1 2 3 4 5	of <u>DECEMBER</u> , 2004 at a meeting at AGAINST;-0-NOT VOTING; and 166.3 Section 1 (f) of Article VI of the Consti	d by the Tohono O'odham Legislative Council on the <u>01st.</u> Day twhich a quorum was present with a vote of <u>2,463.4</u> FOR; <u>-0-</u> <u>[06]</u> ABSENT, pursuant to the powers vested in the Council by tution of the Tohono O'Odham Nation, adopted by the Tohono
6		86; and approved by the Acting Deputy Assistant Secretary - h 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48
7	Stat. 984).	
8 9		TOHONO O'ODHAM LEGISLATIVE COUNCIL
10		
11		
12		I WALL
13		Isidro Lopez, Legislative Chairman
14 15		day of Deceula, 2004
16		
17	ATTEST:	
18		
19 20	Junia John	
21	Lucille Lopez, Acting Legislative Sec	
22		
23	0/34 day of Dumbon, 2	004.
24		14. 41 St S.41. Chairman of the Tohomo
25 26	O'Odham Nation on the	or approval to the office of the Chairwoman of the Tohono ay of $\frac{1}{2}$ exp $\frac{1}{2}$, 2004 at $\frac{1}{2}$ o'clock, $\frac{A}{2}$.M.,
27	pursuant to the provisions of Sectio	n 5 of Article VII of the Constitution and will become effective
28		ilure to either approve or disapprove it within 48 hours of
29	submittal.	
30		TOHONO O'ODHAM LEGISLATIVE COUNCIL
31 32		TOHONO O ODHAM LEGISLATIVE COUNCIL
33		
34		- Continue of the continue of
35		Isidro Lopez, Legislative Chairman
36		
37 38	/	- Daniela)
39	[V] APPROVED	on the Sh day of William, 2004
40		A
41	[] DISAPPROVED	at Vislock, Vi.M.
42		
43 44		V MMW MM Saunder
45		VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
16		ΤΟΗΛΝΩ Ο'ΩΝΗΑΜ ΝΑΤΙΟΝ

RESOLUTION NO. <u>04-642</u>

	RESOLUTION NO. <u>04-642</u> (Approval of the Phoenix Indian School Trust Fund Second Distribution and Child Welfare Division FY 2005 Budget)
1	Page 3 of 3 Returned to the Legislative Secretary on the Affile day of
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43	Returned to the Legislative Secretary on the DAM day of Dunton
43 44	

ACTION: APPROVAL OF THE PHOENIX INDIAN SCHOOL TRUST FUND SECOND DISTRIBUTION AND CHILD

WELFARE DIVISION FY 2005 BUDGET

MOVED: COUNCILMAN VERLON JOSE

SECOND: COUNCILWOMAN SANDRA ORTEGA

DATE: DECEMBER 01, 2004

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSEN
SIF OIDAK 192.6	ISIDRO LOPEZ (Nicholas Jose) DARLENE ANDREW (Risk Marting)	96.30 96.30	x x			
SELLS	(Rita Martinez) 1. DENNIS E. JOSE	232.80	X			
465.6	2. EVELYN JUAN ()	232.80	х			
SCHUK TOAK	1. FRANCES B. CONDE	88.05	X			
176.1	2. PHYLLIS JUAN ()	88.05	X			
SAN XAVIER	1. FELICIA NUÑEZ	107.70	X			
215.4	(Olivia Liston-Villegas) 2. DENNIS RAMON (Eleanor Hunter)	107.70	X			
SAN LUCY	1. JOHN W. LAWSON, SR.	83.15				Х
166.3	2. GLORIA RAMIREZ ()	83.15				X
PISINEMO	1. BARBARA SALVICIO	87.70	х			Х
175.4	2. PATRICIA CRUZ	87.70	X			
HICKIWAN	1. DELMA GARCIA	85.15	X			Х
170.3	(Mary E. Sam) 2. SANDRA ORTEGA ()	85.15	X			
GU VO	1. RAYMOND VICTOR	95.70	X			
191.4	() 2. MICHAEL FLORES (Willard Manuel)	95.70	Х			Х
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	126.80	х			
253.6	2. JEROME JOAQUIN (Roberta Picard)	126.80	X			
CHUKUT KUK	1. KENNETH WILLIAMS	129.45	х			х
258.9	(Juanita Homer) 2. VERLON M. JOSE (David Garcia)	129.45	X			
BABOQUIVARI	1. FRANCES MIGUEL	182.05	х			
364.1	(Lucilda Norris-Valenzuela) 2. FRANCES G. ANTONE ()	182.05	X			
	TOTAL	2,629.7	2,463.4	-0-	-0-	166.3 [06]